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                                                           CLASS 5 

                                                CHAPTER:- SUBTRACTION 

 

Q1. Arrange in columns and subtract:- 

a)  91,85,283  from 3,01,59,394 

b)  94,49,724  from 1,12,01,532  

c)  3,09,26,143  from 5,29,46,325 

d)  5,19,73,819  from 9,32,15,209  

e)  2,51,94,021  from 4,16,54,012  

f)  3,21,94,351  from 7,30,25,001  

 

Q2. Dinesh drink ₹3,68,72,945 ins year and spends ₹1,49,52,790 in the 

        same year. How much money does he save? 

Q3. The population of a city is 8,36,89,541. There are 3,94,58,947 men  

        and 3,17,15,421 women and the rest are children. Find the number 

        of children in the city. 

Q4. A textile mill produced 1,25,16,917 metres of cloth in 2019 and  

        1,58,20,426 metres in 2020. Find the increase in the production 

        in one year. 
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